® B |uhrEam] K 4 R NA Ls Sy T4 L ISSG|NR/| &
3| 9 | bHE #E|2/1| 4145 18.91 41.30 TAD| 6
a4l 10 | F)II ER [10/27] 39.09 18.20 39.84 TAD| 5
Z|/Mm5| 11| AR #1 | 2/1]| 3515 15.78 3445 TAB | 8
50mFLY 6| 12 |BTESE mEfE|7/14| 33.72 15.25 33.70 TAB | 7
1| 13 | BkIE EF | 2/1| 3142 14.70 31.55 - | 8
E 6| 12 |FHF WMEA| 2/1 | 31.24 14.83 31.85 TAB | 8
2| 14| EF BE | 2/1| 3257 1487 33.30 - | 4
5| 11 | &8 FIE |10/27] 35.53 17.24 34.91 TAB | 8
6| 12 | K5F &HFHE | 2/1| 3065 14.92 31.02 JUA | 10 | @2
50mBA 3| 9 | BX &G )| 2/1| 3642 18,53 37.36 JMA| 9
Bl/ns| 11| FEX 86|21 | 4329 20.18 4461 - | -
5| 11 | ¥ kFD |12/15] 40.35 19.90 39.92 - | 4
ha| 10 | BB &3 |6/16| 1.2405 | 17.05 37.31 57.47 1.18.18 | TAD | 6
N4l 10 | X B |6/16| 12502 | 17.03 36.82 57.41 11756 | TAC| 7
M5| 11 | IR {68 |4/21] 11280 | 1581 33.97 5215 | 1.11.08 | TAC| 7
sl 11| AR # [2/17] 11615 | 1558 33.36 51.94 1.11.01 | TAC| 7
. s 11 | Fk OB |11/3] 10446 | 14.34 31.00 47.26 1.0408 | JMA | 10
5| 11 | {18 B% |6/16| 11337 | 1583 34.37 52.87 11168 | TAC| 7
1| 13 | thEH B |1/12] 1.0455 | 15.76 31.65 4869 | 1.0591 - |8
100mFR th1| 13 | 5kEH $HZFE [1/12]| 59.87 13.81 29.10 4457 5964 | JUA | 10
d2| 14 [ B | 2/1] 10092 | 1402 29.38 4513 1.0083 | JMA| 9
2| 14 | pI BEZE [6/16] 1.03.31 | 14.23 30.54 4716 | 1.0387 | JBA| 8
NS 11 | @A 2| 2/1] 11333 | 16.16 34.64 54.06 11283 | TAD| 6
6| 12 | mEA|1/12] 10571 | 1455 31.20 48.23 10557 | TAB| 7
Bl/h6| 12 |H:E B—HB| 2/1 [ 1.09.30 | 1550 33.05 52.00 | 1.10.05 [ TAD| 6
h2| 14 | U &%F |7/14] 57.20 13.22 28.34 43.47 58.98 - |8
=1 16 | LA #BX [1/12] 5210 11.93 25.42 39.04 52.74 | JMA [ 10
Mha| 9 | KE FF |12/15 1.4201 | 2144 46.01 1.12.66 | 1.39.02 | TAD | 8
M5 11 | Fll FF |[6/16] 1.39.06 | 21.71 46.69 11374 | 1.41.00 - | 4
rraree # |(h1| 13 | ®EB H>2| 2/1 | 1.1321 | 1551 34.00 52.72 11217 |«JUA | 11 |JoB
1| 13 | 2 (8 [5/19] 1.19.71 37.95 1.20.66 - 8
h3| 15 | &1u 2| |1/12] 1.11.76 | 1550 34.25 52.77 1.12.45 | JUA | 10
B /3| 9 | &M EH 21.34 4594 | 11034 | 13561 | TAB| 8
% Mmal 10 | N B (12715 13717 [ 19.19 44.42 1.10.19 | 1.37.11 - |2
100mFLY 5| 11 | EAk 02 [11/2] 1.07.05 | 14.91 31.75 49.31 1.07.49 | JUA | 10
B (2| 14| &% B |6/16] 1.16.28 | 1596 35.06 56.56 11993 | - | -
M4l 10 | BEEr &3 |1/12] 12342 | 19.90 41.74 1.03.25 | 1.2490 [ TAC| 7
Al 10 | A I [1/12] 1.2460 | 19.80 4204 | 10346 | 12501 | TAC| 7
/6| 12 |BTES BETE 17.75 37.25 56.28 | 1.15.24 [ TAB| 7
100mBA 6| 12 | K=F HFE | 2/2| 10763 | 1553 32.76 51.11 1.08.74 | JMA | 10
2| 14 | /NE FB5 |7/14]| 11206 | 16.61 34.95 53.66 11279 | - | 7
S| 11 | #2F sk F0 [12/15] 1.2443 | 1953 41.11 1.03.40 | 1.25.72 - | 4
B |d2| 14 |FTES FM| 2/2| 10501 | 1563 3255 49.28 10622 | - | 7
=1| 15 | #f%F Ko [1/12| 5827 14.14 29.03 4486 10042 | UBA| 9




